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M.Sc. (It Semester) Examination, 2021
HOME SCIENCE (FOOD & NUTRITION)

Note :

(Public Nutrition)

Time Allowed : Three Hours

Maximum Marks : 70
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There are 4 sections in the question paper.
Section-A : Attempt any 10 questions. Each
question carries 1 mark. Section-B : Attempt any
5 questions. Each question carries 2 marks.
Section-C : Attempt any 5 questions. Each
question carries 4 marks. Section-D : Attempt

any 3 questions. Each question carries 10

marks.
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SECTION - A
Q. 1. (a) TN W™ R (PR 5) : 5
Fill in the blanks (any five) :
(1) 3c@PEd JaT A IRR BN ......... 3
gutaa a2
organ is affected due to alcohol
intake.
(2) 9Rd ¥ TAE 0 R ......... 2l
The present birth rate in India is
(3) e U HEH! UG dd gl
is one micro nutritional factor.
(4) TIoepr § ufafeT ... mg dleda @
Jaeadmar gl &l
mg of Iron is required for an
adult
() I dd UINUIg R @I qHTdd dxar
gl
factor affects nutritional status.
(6) LBW & QT A ......... gl
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The full form of LBW is



(3)

(b) ¥& IR ¥ v/ A6 @ (P 5): 5

Tick v* mark on right answer :
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(7)

(8)

GRIEEEECCIE

(31) IEH &

(§) 39X

(F) TR ad d

(@ uHr &

Lathyrism occurs :

(@) From soyabean
(b) From egg

(c) From Khesari dal

(d) From water

3% & o ¥ o G A @ o
&

(31) WEH
(@ 5o
(F) 3mEN
(@) 3R

Due to worm infection, deficiency of

which nutrient occurs :
(a) Protein

(b) Zinc
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(4)
(c) lodine
(d) Iron
UCHIEA B doE W @l I §
(31) RRIGS

(§) TR
(F) TIRRFANT
(@ harad

Following is seen due to alcohol intake :
(@) Cirrhosis

(b)  Fluorosis

(c) Athero — Sclerosis

(d) Fractures

Wﬁaéquaé:

(31) 20 / 1000
(§) 7 / 1000
(d) 10 / 1000
(@) 50 / 1000

The present death rate in India is :
(@) 207/1000

(b) 7 /1000

(c) 10/1000

(d) 50/ 1000



(5) (6)

(11) vuAcIoa®IN Hherar & : (1) IRferar & @eor Far|
(31 IR @ Write about symptoms of Xeropthalmia.
(@) W& g | (2) PEM % @M & ®Ror 2 & 2
(| ga |

What are the causes of PEM ?
(3) ¥R # gdAe MY 7T fHar &

What is the present growth rate in India.

(T IRRI6 I

Aflatoxicosis spreads from :
(a) Paneer

(b) Cycad groundnuts (4) UUIg XeeddT BRI & |
(c) From dust Write causes of nutritional anaemia.
(d) All of the above (5) 3ifeNfiis HRUT ¥ W W S Il THIG B
(12) BIEF S FoHPs o BT & - e ¥
(30 A9 FE Fha Give one example of effect on health due to
(§) Ecamrd . .
@) S wR ¥ oe industrial cause. | o |
@ 3R e § (6) clemsRew & @eml & geu # ford|
Due to carbon disulfide, it happens : Write about symptoms of Lathyrism.
(@) Green house effect Hos - |
(b) Cardiac attack SECTION - C
(c) Perforation in ozone layer Q. 3. = dfg oA & 3R fw & =9 & 4 36
(d)  All of the above 3 (7= d 250 v 5%4=20
ws - q Attempt any five questions. Each question carries
SECTION - B o
Q2. S5 g B IR AN @ v § 2 3w & 4 marks. (Word I|-m|t 250 words) :-
(o1 B 25-30 TI) : 5x2=10 (1) &g sgeor Freaor & 3 Sard|
Attempt any five questions. Each question carries Write about various measures to control air
2 marks. (Word limit 25-30 words) : pollution.
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URd P! PS5 TH H-WRT Aol & Gag |
forsi |
Write about any one public health plan in
India.
IR H $H 3T YR & BRUT & A9 ford|
Write the names of various factors affecting
low birth weight.
aRg FGEUT ¥ M aell Uh SR Bl e |
Explain about one disease occured due to
air pollution.
Uo7 qT WRRT & MU waY P ford |
Write about inter-relation between nutrition
and health.
IRa ¥ formgua & sl & IR o
Write about disturbed sex ratio in India.

9Rd # yufie Wreg del o efd ) o

Write about status of primary health centre

in India.
gus - ©
SECTION -D

fgl a9 Tl & IR A TAS T H 10 3D

21 (I I 500 ¥ D vI=)

3x10=30

Attempt any three questions. Each question

carries 10 marks. (Word limit more than 500

words) :
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(1)

(2)

(3)

(4)
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(8)
IRT H 2 BeR fectiadr Rvewr & <@g # ford|
Write about health care delivery system in
India.
AZH! NG ddl I HHT & YW@l & Y A
ford |
Write about the effects of deficiency of micro
nutrients.
YRA o ¥ T gl & BRUT UF SRR
gl Faaor & U saaRe|
Explain the cause of population explosion in
India. Describe the efforts to control
population explosion.
JI90T TR Pl ST XA b akip aqdse| HRd
3o @ dor S WA o 3R ¥ o b
JUrT gccTigl |
Describe techniques to determine nutritional
status. Describe nutritional problems in India
& describe efforts to remove them.
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